Multiple-choice test for a Research Project:

Test created by Saeed Dehnadi and Richard Bornat, Middlesex University

Researcher:  ......................................
	Name:
	

	Student No:
	

	Age:
	

	Gender:
	M F               

	A-Level or any equivalent subjects: 



	Have you ever written a computer program in any language?

If so, in what language(s)?



	Will this be your first course in programming?

If not, what other programming course(s) have you studied?

-- and did you pass or fail?




The results of this test will be recorded in a database. It will never be revealed to any person who could in any way identify you from the data given above. The results will not be used for assessment purposes.

I consent to the use of the following questionnaire for the research project 
Participant’s signature
	1.  Read the following statements and tick the box next to the correct answer in the next column.    

int  a = 10;

int  b = 20;

a = b;

  
	The new values of a and b are:

a = 10      b = 10       
a = 30      b = 20 

a = 0       b = 10         
a = 20      b = 20            
a = 0       b = 30     
a = 10      b = 20     
a = 20      b = 10     

a = 20      b =  0

a = 10      b = 30     
a = 30      b =  0     
Any other values for a and b:

           a  =                     b =                       

           a  =                     b =                       

           a  =                     b =              


	Use this column for your rough notes please  

	2.  Read the following statements and tick the box next to the correct answer in the next column.        

int  a = 10;

int  b = 20;

b = a;


	The new values of a and b are:

a = 0       b = 30      
a = 30      b = 10      

a = 0       b = 10      
a = 20      b = 0       

a = 20      b = 20        
a = 20      b = 10      

a = 30      b = 0       

a = 10      b = 20      

a = 10      b = 10
a = 10      b = 30      
Any other values for a and b:

    a =         b =             

    a =         b =             

    a =         b =             


	


	3.   Read the following statements and tick the box next to the correct answer in the next column.        

int  big  =  10;

int  small = 20;

big = small;


	The new values of big and small are:

big = 30     small =  0    
big = 20     small =  0    
  big =  0     small = 30    
big = 20     small = 10    

big = 10     small = 10    

big = 30     small = 20    
big = 20     small = 20    
  big =  0     small = 10    
big = 10     small = 20    
big = 10     small = 30    
Any other values for big and small :

    big =        small  =                 

    big =        small  =             

    big =        small    =             


	Use this column for your rough notes please  

	4.   Read the following statements and tick the box next to the correct answer in the next column.        

int  a = 10;

int  b = 20;

a = b;

b = a;


	The new values of a and b are:

a = 10       b =  0        

a = 10       b = 10         

a = 30       b = 50       
a =  0       b = 20       
a = 40       b = 30       

a = 30       b =  0        

a = 20       b = 20         
a =  0       b = 30       

a = 30       b = 30       

a = 10       b = 20  

a = 20       b = 10            

Any other values for a and b:

    a =          b =             

    a =          b =             

    a =          b =             


	

	5.   Read the following statements and tick the box next to the correct answer in the next column.        

int  a = 10;

int  b = 20;

b = a;

a = b;


	The new values of a and b are:

a = 30      b = 50        
a = 10      b = 10       

a = 20      b = 20       
a = 10      b =  0        

a =  0      b = 20       
a = 30      b =  0        

a = 40      b = 30       

a =  0      b = 30       

a = 20      b = 10   

a = 30      b = 30   

a = 10      b = 20       
Any other values for a and b:

    a =         b =             

    a =         b =             

    a =         b =  

          
	


	6.   Read the following statements and tick the box next to the correct answer in the next column.        

int  a = 10;

int  b = 20;

int  c = 30;

a = b;

b = c;
	The new values of a and b and c are:

a = 30   b = 50   c = 30      

a = 60   b =  0   c =  0     

a = 10   b = 30   c = 40    

a =  0   b = 10   c =  0     

a = 10   b = 10   c = 10    

a = 60   b = 20   c = 30    

a = 30   b = 50   c =  0      

a = 20   b = 30   c =  0     

a = 10   b = 20   c = 30    
a = 20   b = 20   c = 20     
a =  0   b = 10   c = 20

a = 20   b = 30   c = 30          

a = 10   b = 10   c = 20      

a = 30   b = 30   c = 50      

a =  0   b = 30   c = 50 

a = 30   b = 30   c = 30 

a =  0   b =  0   c = 60    

a = 20   b = 30   c = 20                   
Any other values for a and b and c :

    a =     b =       c =            

    a =     b =       c =       

    a =     b =       c =      


	Use this column for your rough notes please  

	7.   Read the following statements and tick the box next to the correct answer in the next column. 

int   a =  5;

int   b =  3;

int   c =  7;

a  =  c;

b  =  a;

c  =  b;


	The new values of a and b and c are:

a =  3   b =  5   c =  5     

a =  3   b =  3   c =  3     

a = 12   b = 14   c = 22     

a =  8   b = 15   c = 12     

a =  7   b =  7   c =  7     

a =  5   b =  3   c =  7           
a =  5   b =  5   c =  5     

a =  7   b =  5   c =  3     

a =  3   b =  7   c =  5     

a = 12   b =  8   c = 10     

a = 10   b =  8   c = 12     

a =  0   b =  0   c =  7     

a =  0   b =  0   c = 15     

a =  3   b = 12   c =  0     

a =  3   b =  5   c =  7     

Any other values for a and b and c :

    a =     b =       c =            

    a =     b =       c =       

    a =     b =       c =      


	


	8.   Read the following statements and tick the box next to the correct answer in the next column.     

int   a =  5;

int   b =  3;

int   c =  7;

c  =  b;

b  =  a;

a  =  c;


	The new values of a and b and c are:

a =  3   b =  5   c =  7     

a = 15   b = 10   c = 22     

a = 12   b =  8   c = 10     
a =  7   b =  7   c =  7     

a =  3   b =  5   c =  3     

a =  0   b =  0   c =  7     

a =  5   b =  3   c =  7           
a =  3   b =  3   c =  3     

a =  7   b =  5   c =  3 

a =  3   b =  5   c =  0     

a =  3   b =  7   c =  5     

a =  8   b = 10   c = 12

a =  5   b =  5   c =  5     

a = 15   b =  8   c = 10

a = 10   b =  5   c =  0     

a =  0   b =  0   c = 15     

Any other values for a and b and c :

    a =     b =       c =            

    a =     b =       c =       

    a =     b =       c =      


	Use this column for your rough notes please  

	9.  Read the following statements and tick the box next to the correct answer in the next column.     

int   a =  5;

int   b =  3;

int   c =  7;

c  =  b;

a  =  c;

b  =  a;


	The new values of a and b and c are:

a = 15   b = 18   c = 10     

a =  7   b =  5   c =  3     

a =  7   b =  0   c =  5     

a =  0   b =  3   c =  0     

a = 10   b =  0   c =  5     

a =  5   b =  3   c =  7           
a =  3   b =  3   c =  3     

a = 12   b =  8   c = 10     

a =  7   b =  7   c =  7     

a = 15   b = 10   c = 12     

a =  7   b =  7   c =  5     

a =  8   b = 10   c = 12     

a =  0   b = 15   c =  0     

a =  7   b =  3   c =  5     

a =  5   b =  5   c =  5     

a =  3   b =  7   c =  5     

Any other values for a and b and c :

    a =     b =       c =            

    a =     b =       c =       

    a =     b =       c =      


	


	10.   Read the following statements and tick the box next to the correct answer in the next column.     

int   a =  5;

int   b =  3;

int   c =  7;

b  =  a;

c  =  b;

a  =  c;


	The new values of a and b and c are:

a =  0   b =  7   c =  3     

a = 12   b =  8   c = 10     

a = 15   b =  0   c =  0     

a =  0   b =  7   c =  8     

a =  3   b =  7   c =  3     

a =  5   b =  3   c =  7           
a =  3   b =  3   c =  3     

a =  7   b =  5   c =  3     

a = 20   b =  8   c = 15     
a =  3   b =  7   c =  5     

a =  5   b =  0   c =  0     

a =  8   b = 10   c = 15     

a =  5   b =  5   c =  5     

a =  8   b = 10   c = 12     

a =  5   b =  7   c =  3

a =  7   b =  7   c =  7          

Any other values for a and b and c :

    a =     b =       c =            

    a =     b =       c =       

    a =     b =       c =      


	Use this column for your rough notes please  

	11.   Read the following statements and tick the box next to the correct answer in the next column.     

int  a = 5;

int  b = 3;

int  c = 7;

b =  a;

a =  c;

c =  b; 


	The new values of a and b and c are:

a =  8    b = 18   c = 15    a =  7    b =  0   c =  8     

a =  5    b =  5   c =  5    a = 12    b =  8   c = 15    a =  7    b =  0   c =  5     

a =  3    b =  7   c =  5     

a =  7    b =  5   c =  3     

a =  0    b = 15   c =  0     

a =  0    b =  3   c =  0    
a =  3    b =  3   c =  3     

a =  7    b =  7   c =  7     

a = 12    b =  8   c = 10     

a =  8    b = 10   c = 12     

a =  7    b =  5   c =  5

a =  5    b =  3   c =  7         

a =  7    b =  3   c =  5  

Any other values for a and b and c :

    a =     b =       c =            

    a =     b =       c =       

    a =     b =       c =      


	


	12.   Read the following statements and tick the box next to the correct answer in the next column.     

int  a = 5;

int  b = 3;

int  c = 7;

a  =  c;

c  =  b;

b  =  a; 


	The new values of a and b and c are:

a =  0    b = 12   c =  3    

a =  5    b =  5   c =  5     

a =  0    b =  7   c =  3     

a =  8    b = 10   c = 12     

a = 15    b =  0   c =  0     

a =  3    b =  7   c =  5     

a = 12    b = 15   c = 10     

a =  5    b =  7   c =  3     

a =  3    b =  3   c =  3     

a =  7    b =  7   c =  7     

a = 12    b =  8   c = 10     

a =  5    b =  0   c =  0     

a =  5    b =  3   c =  7          
a =  7    b =  7   c =  3  

a = 20    b = 15   c = 12

a =  7    b =  5   c =  3  

Any other values for a and b and c :

    a =     b =       c =            

    a =     b =       c =       

    a =     b =       c =      


	Use this column for your rough notes please  











